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Steppingstone activity
Lesson 10
LO: To divide 2 digits by 1digit 
Success Criteria:
	1. Read the calculation carefully.  How many are you dividing by?  This is called the divisor.

	2. Divide the tens digit by the divisor

	3. Divide the ones digit by the divisor

	4. Add the answers together.  This is the answer to the original calculation.
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Now you try…
28 ÷ 2 = 			36 ÷ 3 =			44 ÷ 4 =
 


Year 4 Maths   
Lesson 10
LO: To divide 2 digits by 1 digit
Task:
You are going to practise dividing! You will be identifying remainders.
Success Criteria:
	1. Draw the part-whole model.

	2. Partition the dividend (number you are dividing) and solve the first calculation – use your knowledge of times tables

	3. Solve the second calculation - use your knowledge of times tables

	4. How many are left over?

	5. Add the answers together and put the remainder on the end.
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Year 4 Maths
Main activity
Complete at least 2 columns, more if you can!
	Task 1
	Task 2
	Task 3
	Task 4

	Practice
Complete the part-whole models. 

44 ÷ 3 =

56 ÷ 5 = 

86 ÷ 4 = 

87 ÷ 4 = 
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	Reasoning
Explain your answers.
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	Problem solving
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6a. Match the calculation to the correct

answer.

10 Exchanged for 10 ones
and shared equally.
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4b. True or false? 49 4 =13 11
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4a.Trve orfalse? 46 4 =11r2
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4b. When Abdul, Jan and Anna put all
their football cards together, they have 98
in total. They share them equally between
8 piles. Anna says,

1 think each pile 13 cards in it
and 3 will be left over.
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100 0 @O
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Is Anna correct? Explain your answer.
>
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4a. When Lily, Jakub and Adil put all their
stickers together, they have 97 in total.
They share them equally between 7
sticker books. Adil says,

| think each sticker book will
get 14 stickers and 4 will be
left over.
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Is Adil correct? Explain your answer.
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2. Find a path through the maze so that the number of remainders increases with each
step. The patternis r1, 12, r3, r4, 15, ré, 17 and finally r8.

Find a route back from the finish line back to the start, following the same pattern of
remainders.
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Creats, discover and succeed together




